IRONRIDGE Flat Roof Attachment

ITEM NO. DESCRIPTION
| FLAT ROOF ATTACH, BASE
2 WASHER, FLAT 3/8" X 1.25" OD SS
3 BOLT, 3/8-16 X 1.125" HEX, SS

FLAT ROOF ATTACHMENT (FRA)

Part Number Description
FRA-BASE-01-M1 Flat Roof Atfachment, Mill
1) FLAT ROOF ATTACH, BASE 2) WASHER, FLAT 3/8" X 1.25" OD SS
@@ 1.25 4—“<.05
D .41 N
7.0
3/8' THD Property Value
Material | 300 Series Stainless Steel
®.82 Finish Clear
SILICONE SEALING

WASHER 3) BOLT, 3/8-16 X 1.125" HEX, SS

MAX #15 SCREW X146 .23

Property Value Property Valve
Material Aluminum Material | 300 Series Stainless Steel
Finish Mill Finish Clear

vi.i




